
   CALC 203 

TEST 2 FORMULA SHEET 
 
  Assume u & v are the functions of x. 

   
 
 
  

 
 
 
 

        
 
 
 

 
  
 
     
   
  
 
 
 
 
  
 
    
 
Solutions to homogeneous second-order equations, 0ay by cy′′ ′+ + = .  

The auxiliary equation has the form of 2 0am bm c+ + =   
           

 
 
 
 
 
 
 
 
 

 

            Roots of Auxiliary Equation Solution to 0ay by cy′′ ′+ + =  

Real and Unequal (two real roots 1 2 and m m ) xmxm ececy 21
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Real and Equal (double root m) 
1 2
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Non Real (complex roots A jB± )  
1 2( cos sin )Axy e c Bx c Bx= +  

Differentiation: 

Integration: 
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Laplace Transform Number f(t)         ℒ[f(t)] = F(s) 
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